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ITA - 1979 — INGLES — FSP (6/1/79, pag. 11)

INSTRUGOES

Recebendo este caderno de questles, veritique se esté completo, O caderna
dave ter 16 pdginas numeradas de | 2 16,

Se o caderno estiver com folhas mal impressas ou com falhas, avise o Fiscal,
para qua @ navo caderno |he seja farnecido,

0 EXAME consta de 60 {cinqlienta) questSes do tipe maltipla scolhs, nu-
moradas de 1 a 60,

Em principlo, o EXAME deverd ser ‘feito em uma hors e mela. Todavia,
porla-40 roservar-Jhe tempo malor ou manor, diminuindo.ou aumentando o
tempo destinado a0 exame de PORTUGUES ~ que ¢ fejto am conjunto com
o de INGLES.

H4 somente uma alternativa cerio para cada questio,

Terminando a PROVA, os resultados devem ser transferidos, com cuidado
para os cart8os IBM.
Agusrde o sviss do Flzsal pars Inisler o excmae,

Terminande o EXAME , aviowe o Flscal,

2

& Tuvgoing for o Devele eide, Wkt you like to foin me

ASSINALE A OPGAO CURRETA CORRESPONDENTE A {S} PAL AVRA
(5) QUE COMPLETE (M) AS SENTENGAS DAS QUESTOES DE NUMERO

a2l
wPeter says Iis father is very severe”

W e e othan togy Baet now d Ko §es e ™
A - will believe

8 ~ believe

C « usadi to believe

D -~ have baliaving

) E = bellaving

“Edward has kst weight "

“That's because Fe's ealing..uimmnasmiinn. than he used to"'
-~ many igs

- much less

litthe

~ any more

-~ most

“Why didn’t you buy that toy for your so nt"

i  ——
mopaoOee>»
1

”‘ m.“....u“.".“-ulllu.null"l-nnﬂ“liuIl"!tlnt.ﬂulﬂl.rn ‘ﬁf WMI’ "0"";

{ )} A — too much costly asany
{ } 8 — the most costly one

{ } C ~ thecostliest one

{ | D — themost in costlines
{ } E — themore costly one

g

L1

Lidort have a bicyele, but Peter does. Perhaps ] 0anm us€u s cvsenss s
{ ) A~ hisone
{ ) 8 - of his

(1 ¢C

{ } D~ ofhim

{ | E = theoneof him
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. "When will you be able 10 give UL ..vuusvisoinoiiriformation about the crime?™ 10

{ )} A~ far

{ )} B = furthest
{ } C = farthest
{ } O — farther
{ } E ~ further

A "”f oomes hm Cl’ffy mm}'. ﬂMﬂ"Itl'!.ilI!ll..lt!l!i!1.l.i’l‘1‘.l!llt .

- 30 do we
-~ wedo
do wa 5o
- $0 COME We
- Wecome 0

— e g

St St

mooo>
i

{ } A - ssherdas

{ ) B — sohardas

{ } C — very hard that
{ } D =~ 0 herd that
{ } E - 0 hard than

. “m bl'ﬂ"ll' “ ” mm---onunou'knnuuuunul m m h‘l’l‘l W“h OM h’ﬂ.i

A — for
B - to
C—a
D - thm

(
(
!
{
(1 E-1Hf

. — —

1"

12.

13

14,

“He can certainly walk a lot faster............cosinnsf CRAR"
{) A~ than

{)B=1

{ ) C — unles

{) D— that

{ ) E — then

“Stop. ! Don't beat thé poor boy".
{ )} A~ them

{) B - you

{) C— her

{) D~ him

{)E~-i

TN QIO diSCUSS.vveiiiariiivesss cvosnsirsesnssssssnersrenssssisermsonsas
{ } A~ withme

{ )} B — about whether there is a problem

{ | C — theproblem

{ )} D — about the problem with me

( } E — of the problem

"nli‘ p“f‘e ms mde-.n...ounl‘ulanu'u"oulu‘t.‘.ll'oto» -

A — by hands
8 — byhand
C — with hands
D — with hand
E ~ of hand

— o g p—
Tt G S — —

L i)

" yow mﬂf fs m‘he’oio”di oooooooo ton.oacu’-uome .

~ some
~ same
like

-~ as

—~ same as

— o A, e

}
!
)
)
)

moonxs >
I
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16

17,

18,
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“Is the m.ﬂ‘fc..\--.....n-...unn".u..-..ns...--.'.u»uu'u'u-u..uuu-un--....... '
( } A — socoolfor you to drink

( } B ~ too cool that you can drink

( } C = cool encugh for you to drink

{ ) D — enough cool to drink

( ) E - too enough cool to drink

“He 15 ICTIGENE BUE 110 Bouesrssssssrasssrcssnssarsissssunsstssssarsssos-ssssc IS QVUSHNE

= most intelligent of
-~ less intelligent

as intelligent

not so intelligent as
not so intelligent

mQoaom >
i

"They demanded,...,..ovumsisessssssesenses With them”

{ } A~ theytogo
{) B ~ metogoing
() c¢- on my going
{) o~ me going
([} E =~ thatlgo

"&n you rC” me-uunnuunuuu"u-"-uu.nu“nuuoun|undniuullunuluhn"nnnuMouo ?“
“Yes, it is my pleassure*,

~ when do#s John is goling to finish his report
8 ~ when John is going to finish his report
C = when does John go to finish his report
D ~ when doss John to finish his report
E -

{1 A
()
()
()
() ~ when Is John going to finksh his report

2,

8. ©, ressssemmssesammenennsdid they serve thé chikdren in the birthday
w‘y?lt

O “ley have hadd........... .. SOPRTRTROY /|1y U 11/ 'S 2

U} A - break thek doors

('} 8 < broken their doors
{1 C = breaking their doors
U] v« their doori to bresk
U1 E - theif doors broken

d

she "e"r c'ﬂjoyﬂf 'H‘h&f’u.tnu"nl|inuo”lpuo!intllltt“t "

{ '} A = for them to resd
() B ~ taad

(1€ = toraading

{} D = themresd

) E < reading

ASSINAL e 4 GPOAO CORRETA CORRESPONDENTE AS SENTENGAS
DASQUESTOES OE NOMEHO 22220

211 A~ The population of China Is almost fourfold the populetion 6f
United States,

1) 8 « The population of China Is aimost fourfold the populstion of the
United ';“'“f

{ )} C = Population pf China it aimost fowfold the population of the
Unlited States, .

{ )} D ~ China populstion is simost fourfold United States populstion,

{ )} E = Nopeof thes,
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= It's time whan yoy went,

‘= It's tima 10 yougo..

= |t's time which you went,
~ |t's time you're gona,
= It's time you went,

=~ The dapce which you saw last night was a tiaditional une,

s The dance what you saw last night was a traditional ope,

« Thedance that you saw it last nighy was a traditional one,
~ The dance.which you saw it last night was a traditional one.
None of these,

~ Some of tha boys whom | invited them didn’t come,
~ Some of the boys whose | Invited them dkin't come,
~ Some of the boys | invited them dkin’t come,

- Some of the boys | invited didn't come,

~ None of these,

= The teacher | wrote to you about has riot yet arrived,
~ The toacher who wrote to you about has pot yat arrived,
= The teacher who | wrote to you shout her has not yet arrived,

~ The teacher whom | wrote to you about her has not yet arrived.

= None of these,

-~ Nothing you do can to make me forgive you.

~ Nothing what you do can make me forgive you,
= Nothiny that you do can make me forgive you.
~ Nothing whom you do can make me forgive you.
= Nopne of these,

o What's thu naine ol the hotel ynu usually go to iw?
- = What's the name of the hotel you usually go to?

~ What's the name of the hatel to that you usuaily go?
What's the name of the hotel to where you usually go to?
+ What's the name of the hotel do you usually go to?

29,

.

az

it's the waiter whicly's to blame.
It’s the waiter whose to blame,
= 1t's the waiter that's 10 blame,
= 1's the waiter what's to blame,
= It's the waiter he's 1o blame.

—— — ——

— ——— ——

moooe>
|

ASSINALE A OPCAO CORRESPONDENTE A TRADUGAO CORRETA.
OBSERVE QUE AS QUESTOES DE NUMERO 30 a 30 FAZEM PARTE DE
UM PARAGRAFO COM SENTIDO COMPLETO.

. A mnata que nutrora cubria a serra que fics somente a quinze quildmetros de

Charqueada

( } A = The forest that lopy ago covered the mountsin that stay only
fiftean kllometers of Charqueads

{ ) B =~ The forest that ohce covered the mountain that stands thers are
only fifteen kilomaters of Charquesda

{ } C = The forest that onoe covered the mountain that lies only fiftesn

’ kilometers from Charquesda

{ )} D = The forest which ago cowred the mountain which lay there is only
fiftean kllometers from Charguesda

{ ) E = The forest who at once covered the mountain which laid only
fitteen kitometers of Charquesda

¢ fornecla um habitat para a vida selvagemn, estd sendo derrubada.

-~ and provided a home for wikilife (s being felled,

and furnished 2 place to the life savege, s being cut down.
— and wes an habitat to the savego ife is been fallen,

= and provided a home for the wikdlife, is been fatien.

— and wes a house for tha wikd world, is baen felled,

mooo»
i

Agom, podesse ver frechas de terra desprovidos de vegetaplo,

Artuslly we can to see pieces of land with no vegetation,
Now ane can see pgatches of open land. '

At presant can itself sce stretches uf land opened.

Now can one sess stretches of openad land.

Now everybady can to see patches of open land,

mooom>»
|

p— o —— g
— . — —
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33. Quande i nafe ¢ oortada, nada resta pard criar on proteger o sok),

34,

{ } A = When a forest Is cutted, nothiny rests 1o create or protect the
soit,

{ } B = When a forest is cut, nothing is leaved for create or protect the
wlil,

{ ) C — When a forest is cut down, there is not nothing laft behind for
craating or protect the soll,

{ } D — When a forest is felled, nothing stays for create or protect the
il ,

{ ) E — Whan a forest is cut down, there is nothing kft to create or,

protect the soll.

As chuvas pexadas correm sem obstdculos para o vale abaixo e levam a camada
superficial do xlbo,

{ } A = The rains heavys run without obstacles to ths valley and carry the
supnarficial soil.

{ } B = The heavies rains run unchecked to the vailey below and take the
superficial sarth.

{ } C — Heawy rains sush unchecked to the wliey below and wash swey
the topsoil,

{ } D — Heavy rains can to rush unchecked by the wvalley and wesh the
topsoil.

{ ) E = The heavy rains can, not checked, to hurry for the valley below
and wash away the earth.

Se uma floresta deve fornecer madeira, protepdo para o divisor de dgues, lazer
¢ habirat para a vida selvagem,

{ ) A — Whether a forest should furnish wood, protection for the dividing
waters, recreation and a place for savege lite,

{ } B — Ifaforas isto provide timber, protection for the weter, recrestion
and a home for the life savage,

{ } C — When a forest should be to provide lumber, protection for the
watershed, pastime and an habitat to the world wikd,

{ ) D = Ifaforest is to supply timber, watershed protection, reciqation,
and a home for wildlife,

{ )} E — |t aforest thete is tn give wood, watershad protection, pastime
and a habitat for the wildlife,

36, tem que ser derrubsda cukladesamente e replantada porgue a tara & Inigil

{ } A- hanm to be falien writh care and planted sysin because the serth is
weak,

} B ~ it have to be falled carsfully snd replanted why the land is fragile.

}

' .
{ C —~ it must 1o be cut down with carsful and replanted because the lend

is tragile,

( ) D — it has to be cut down carefully and replantsd for the lend is fra-
gie. |

{) E- it should to be cutted carstully and sgain plantsd for the ol is

37. Se continusrem destruindo @ mata, ¢em poucos anos Chergiusads terd como ce-

ndrio,

{ ) A = if continue to destroy the forest, in a littie years Cherquends
have a3 scenery,

{ } 8 — If they continus destraying the forest, in a few yesrs Charquends
wili have for its background soenery,

( ) C — Whather they 3o on to destroy the forest, in few yesrs Charquesce
shall hes for her background lendsiape,

{ )} D = if themselves continue destroying the forest, in e iRtie years
Charqueads shall have how lendecape.

{ )} E = If they continue to destroy the forsst, in a smal¥ years Charquesds
will have as its scenery,

38, um monte de terrn estéril pols, como rodos mbem,

A — & hespof berren lend for, s everybody: knows,

8 — ahill of weste lend beczuse, how everybody know,

C — a mountain of barren sarth for, hcw el the wor id know,
D — & hesp of wasts clay why, s all knews,

E — »top of barren lend becauss, s sl know,

{ } A ~ thensturs lesves 500 yeers for form one inch of hewms.
{ ) ‘8 — nsturs take 50O ysers for formicy) one inch of tepsell.

{ } C — it tskes neture 500 yesrs to creste sn inch of wpmil.

{ ) D — It lsaves the netire 500 years for creste 8 inah of husus.
{ )} E — the nsture takes 500 ysers for 10 craste an inah of Sopendl,
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LEIA ATENTAMENTE E ASSINALE A OPGCAO CORRESPGNDENTE A &), The canise uf splentific discovery duriing the sevemteentls centiry'
RESPOSTA CORRETA, NAS QUESTOES DE NUMERO 403 47: { ) A — leamasd s hu mae hictériane
Ovrigins of the sawenteenth-century scientitic : : : : :::rb:: r‘m’:qn::i':ﬁg;ﬁ
revolution have been disputed by historians for the past two centuries, Some { 1 D = hassomethiog to with religious developmants
have scen it as the result of the liberation of the Eutopsan mind by the ( } E = nonwol thess
Protestan Reformation; others have attributed it’ to the rise of the middle A
class, with its characteristic curiosity and quantitative tendency, Still a thied T y T o
school prafers to view modem science as a philosophical revolutian in which 42. The factor that :"' NOT affect the scientificrepolutlon vas
the slements of science were antirely redefined, Finally, thers is the view that : } : '_' ;ﬁwdm
modein tcience srose from a technoioyical fevolution which, by focising () ¢-= coanomic motives
attantion upon the exploftation of nature, stimulated the sesrch for netural () D =lnd ustrial developenent
laws. There are elements of tuth in all thes interpretations. While the Y s
Protestsnts were no more friendly or hostile to science than the Catholics, ( ¥ E = noneott
the very proliferation of Protestan sects made It pomibie for the holders of L o
heterodox views 10 giln a hearing. The middle class, too, mads its contributian. A3, The Protestant Reformiltion geve Hise to
From its ranks came much aof the deiving force behind the attack on.naturs, i o
which was provided by the visior of economic reward attendant upots eventual : : : - ‘:::;";{:::‘c;m?um atore
victory. | 1 ) C.— schallénge to Copeinican doctring
Mors Important than these factor, howavey, ( ) D =~ economic wealth
was the reorientation in philosophy. The Copernican system owed far more, { )} E « noneof thew
to philosophical presuppositions than it did to anything else, i: classical
dynamics wat founded by challenging a fundamental dogme of istotetian
ohilasaphy, - The techeological innovations of the Renaissanos were &0 1o 44, :J;;emt:fry malintains that the odvance in sclentific thought was brought
make an importemt contribution to seventesnth<entury science; By the -
seventeenth century, fakly complicated machinery was in use in a number of
industries. Machines provided the analogy upon which science was to depend

{ } A = inwntions
for two centurlss. The universs and its component procscses could be :
(
{

)

) 8 ~ religlous toleration
compared to & machine and, like a machine, the universe could be understood ; g : ;t:::’:n;c theories
In tezms of the separate operations of fts parts. ) E

~ none of thes

40. Acccrding 10 the passge, scienoe began during 45, According 1o the passage, scientists were really
: ; :: m:;.:?::: ' { ) A - membersof the middle class
{ ) C - theRensissance { } B — Protestants
{ } D - theProtestant Reformation { )} C — philosophers
{ ) E — noneof these { ) D — econpomists
{ } E — noneof these
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A6. One contribution of the sclentific revolution was

— political fresdom

— arise in the middle class

a rejection of Aristotle's idcas

~ arejection of philosophy In scientific matters
— none of these

moowo>»
|

47. A seventeenth-century sclentis might describe the universe as a great

- world
= houss
— philosophical system
- chock

{) A
()
{ )
{ )
( ) — none of these

mooo>

LEIA ATENTAMENTE E ASSINALE A OPcAo connespomusms A
RESPOSTA CORRETA, NAS QUESTOES DE NUMERO 483 50:

»A standard comprises characteristics attached lo
an aspect of a process or product by which in can be ewsluated. Standardization
is the development and adoption of standards. When they are lormulated,
standards are not usually the product of a single person, but represent the
thoughts and ideas of a group impregnated with the knowledge and
information which are currently available. Standards which do not meet
oertain basic requiremants becoma sn obstacle rather than an aid to progress.
Standards must not only be correct, accurate, and precise in requiring no
more and no less than what is needed for satisfactory resuits, but they must
also be workable In the sense that thelr usefulness Is not nullified by externa
conditions, Standards should also be acceptable to the people who use them.
If they are not acceptable, thay cannot be considered to be satisfactory,
although they may possess all the other essential characteristics”’

48. Acconling to the above paragraph, a processing standard that requires the

use of materials that cannot be procured. is most likely to be

{ } A - incomplete
{ } B — insccurate

{ )} C = unworkable
{ } D — unacceptable
{ } E — unnatura!

49, Acconding to the ahbove paragraph, the construction of stardards to which the

performance of job duties should conform is most often

{ } A — the work of the people responsible for seeing that the duties are
properly performed

{ )} 8 - accomplished by the person who is best .Informed about the
functions involved

{ )} €  therespomsibility of the people who are to apply them

{ ) D attributable to the efforts of various informed persons

{ ¥ € theresult of someone's hapharard direction

. Acondnig to the above  paragraph, When staidards eall for finer tolerances

than tinise essential to the conduct of siwevessful production aperations, the
elfved uf the standanids on the improvement f production vperatkins is

A — negative
B — nullified
C — negligible
D — beneficial
E — lemened

L Y
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Solugoées — FSP (6/1/79, p. 12)

1. (alternativa C)
comentario:

npeter diz que seu pai & multo severo”
ngufecreditava(costumava acreditar)| nisso tambem, mal

agoro sel que nio @ verdade"
A expressao "used to belicve" corresponde a "costumavy
pcreditar - acredituva™ ¢ indica umu atitude habitualm

pussado.

2, (alternativa B)
ocomentArio:

"gdward perdeu pesdo"

"lsto ¢ poryue cle esild comendo muito menos do que ele
costumava',

Nests gquestéio, & portlcula “do que" (tham), no  frase,
ja pede a presenca do compurativo menos {less), Entrana
questdo o diferengn entre "much" (usado pura palavras in
contaveis) ¢ "many” (usado pura palavras contaveis).

3, (alternativa C)
comentario;

"Por que voce nao comprou usquele bringuedo pars seu ri-
Tho?!

"Era o mais caro da loju inteira."

Nesta questdo entra o uso do superiutive (o mois). Even
tuais confusdes poderium ocorrer entre as respostus b e
¢. No entunto a regra ¢ clura: adjetivos de duas aila-
ban terminndos em er, ¥y ud‘ix levim er no comparative
de *superioridude e est no wuperlativo. Ex.:! cost]ly —
costliest

4, (alternativa C)
comentario;

"You dur um posseio de biciclelu, Voce goslariu de me a
companhar?"
“Nao tenho biclicletay, mus Peter tem. Talvez eu possa u-

kur a delg "

Umn questdo sobre o use do pronome ﬁnuﬁugnivu hin (de —
le). O pronome, nu cuso, evita o repetigoo do  sHubston-
tivo bicicleta.

5, (alternativa E)

comentario:
YQuantdo voce poderﬁ nos dur mujorexs infuruuqﬁeu sobre
o crimeg® ' .

A% pulavras “forther®™ e "further™ siv compurativos de su
perioridude de “for". “Further” gigni[icn "muin distun-

te", "posterior®, porém no curo e usada com o sentido de
Ymujores" ou “udicionuin'.

6. (alternativa A)
gomentarios

Trata-se ajul do qug se éonvencionou chawar ""positive
addition", A frase principal e positiya, assim como 4 a
dicdo. A"powitiye addition" forma-se com 40 ¢+ auxiliar

no tempo correspondente ao da fruose principul + sujeita

7. (alternativaE)
comentario:
¥Se voce o queria, porque voce nao disse?

Numa 1ingua, algune verbos sao usados com certas pala-
vrss para ajudar o cosplementar melhor ums expressao,
Por exemplo, o usadissimo "to think so", (pensar
assim), Dal termom o verbo to say acompanhado do adver
.bi? 18 Entao temos: to any“EETE%zer gudjm, dedta manei
ra).
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8. (alternativaD)
comentario:

"0 exame era[tdo diflcil que| ninguem possou"

A questao visa averiglur o conhec imento, por partedo ves
tibulondo, da "result-clauase", isto e,orugido subordina=
db consecutiva.

Indica o reaultado da agio expresnsn nu fruse principul:
A dificuldade do exame acurretou 2 reprnvuqnu gernl.
l-pnrtnnla nao confundir "so ... that" (tdo:.. que) com
"as ... as"(tao ... quanto), que indicu uma oragao wu-
bordinada comparativa.

9. alternativapD)
comentario:

“Meu irmio e tiao leve posso levanta-lo com uma mao"
Em termos gramaticais, estn questao se unsemelhn muito a
anterior. O problems enfocido € o mesmo:

“So light that" (Tao leve gue) ... (oragio Bsubordinads

cufisecutiva) -

(alternativa i)
comentario:
"gle certomente pode caminhur muito muis ripido [do que]
e, ¥ .
A guestao trato da comporagao de superioridade, compos-

tu por dois termos: o vdjetivo(no cuso "fuster" ¢ u con
Juncao “than", que faltava pura completur a frase.

(altornatival)
comentarios
"pare ¢gm fssg! Nao bata no pobre meninol" .
Esta questao versa nnbre o uso do imperativo que, ecm in
gles, dispensa o uso de pronome pessoal sujeito. Usumos

"it" no caso, como pronome objetu, sendo que a trudugio
e "pare com isso" (embora literalmente seja "pure-o").

12. (alternativaC)
comontario:

"Eles freqlientemente.discutem o respeito do problemu."
A regencia do verbo "to discuns" npo e igunl a dn verbo
"disculir" em portugués.

Dizemos "Eles freqlentomente disculem a respelto do pro
bleoa comigo." No entanto, em ingles o [rase corretn e
rio: "They often discuss the problem with me"(CF
Advanced Learner's Dictionury of Qurrent English,pagina
281).

13. (alternativaB)
comentarios

Vgsta carteirn foi feita o

A questio visa o emprego corretb da preposigao "by" yue
acompunhando o substantivo "hand" forma a expresspo -
diomatica "by hond", isto e,"a mio",

rin: "iney 0llen Ol1HCUKE LNE proocica I'.II.I'I mEy ,u;_[
ldv;ncud Learner's Dictionary of Current English,pagina
281).

14, (alternativaC)

comentarios

"Seu casaco € bastonte parecido com o meu.

A queatno versna sobre o uso de "like" o “as" yuundo T
usadus numa conpurngno de igualdade. WAn @ conjungiiv e
usa-se para unir oracoes. "Like" e preposiqao. sendo u-

sada pura unir termos da oracdo, nlem de ser ndjetivo.
No caso, "1ike" e o ndequundo.

15. (alternativaC)

comentario:
. entn sufl iclentemente frio pouran vncn Comiir ?
"0 cafe| 35 esfriou o sufictente pura voce tomnr ?"
Eata nueu(lu versn sobre o uso de "envugh" (suficiente~
mente, bustante) e "too" (demain).

"Enough" precede o substuntivo mus ¢ colocudo npun|uud-
jetivo, como o requer a guestio.
a5 Fe
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16. (nlternativa D)

comentario:
vgle ¢ inteligente mos nao ¢ Ldo inteligente quanto weu
primo" :

A quéstao pede o usu curregu o compurntive de fguolda~
de negativo, que se constrol deo dups formos:

1l - not as + adjetiva + an
2 = not ao + adjetivo + an
No cano, o segundo modelo correppunde a ulternnliva D

17. (alternativa E)
comentario!
"glea pedirom para nque ou fouse com ules™

0 verbo "to dempnd" (exigir) pede a mesmn regencin  nue

"to ask" {(pedip)

Usa-se o subjuntivo em orugots Inicindas por “thut" pu-
ra indicur recomendagao, ordem; toHoluguo, elc. Edle sub

Juntivo ocorre principalmente no estile formul.

AHH fm "They deamunded thot 1 go" poderiaser exjpressa dm

ingles informal por “They demnnded me to go' ou
"They demonded that I should go"

18, (alternativa B)
comentariot

‘Yocé pode mo dizer
torio?"

Quando numa oragao interrogutiva,houver ums scatengn su
bordinada, a mesma nio lavard auxilior ¢ o verbo ocupn=

ra a posigao normal de uma senten¢s afirmaliva,

quando John vai terminar seu rela-
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19. (aliernativac)

oomen tario

Yue sabor de sorvete cles servirim su ériancas na fou-
ta de aniveraario?" '

A adietivacao do substantive ewm inelon node anv falés da
diinn formasi

“,Coloca-pe um adjetivo antes do aubstantivo, Ex.! new
Car s carro novo. . '

~-toloch~ae um substantivo diante de outro aubstantive,
sendo que o primeiro adjetiva o scgundo, Ex.t M falry
atory" (¢ntoria de fada); "smummer holidays" (feriad de
verso) ¢ & propria queatao "ico-cronm flyvor" (sabor de
worvete) : '

20, (altornativak )

cnaeptn#£a4 .

“Guebraram as portas dales trés veres

Haja acostumado com o Pant Perfect (HAD ¢ PARTICIPIO) »
talver ¢ aluno eacolhesne & rouposta B (NAD ¢ DROKEN) .
Torna~se ogor(nnn legbruﬁ qlie ﬁgahdo alguam’fay umh p<
GAC PATE nos ou a pratica memmo a nonun revelin, usomos
o "epunstive uao of HAVEY. Por oX,t "Uueliraram as portas
déléa" » YEles tiveram am portas quebradas,"(They have hud
thelr doors broken).

21, (alternativa E)
gomentirio!

"Ela nunca gostou de ensinar o

"SRR AL
WEla nunca gostou de ensinar a ler"

Esta questao versa sobre o emprego do gerindio utiliza-
do como substantivo. No cdaso, traduziscs “"reading' como
Mler", ss bes que, literalnente, corresponds a "leltura®,
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22, (alternativa B)
comentario:

A populagio da China @ quatro vezes mulor do que a popu
logao dos Estados Unidos,"

Percebemos aqui o emprego do artigo derinjdu"th-"in,o}
sendo o Beu uso necessario para a determinggao do subs~
tantivo {(a populagio da China).

Em scgundo lugar temos o uso do mecumo antes de "United
Statea", Normalmente, nao usumos artigo definido na
frente de nones de palsea; "United States" & uma exce —
Goo.

23, (alterpativa E)
comentario;

" tempo de voce ir"

Depois de "It ia time" devimun usar o pust subjunctive
ou a construgao formsada por “Fur + object + infinitive",
Bx,: "It's time you went" ou

Wit's time for you to go"
A alternativa aponta a segunda conutrugao.

2h, (alternativa A)

comentario:

"A danca a que voce assistiu a noite pasgada erausadan
c¢a tradicjonal,” .
Ests questiao versa sobre o uso do pronome relativo "

o qual, a qual, que" (which), "which" e empregude para

substituir objetos ou snimuis e, nesta sentenga, esta
devidamente empregado, substituindo “u dunga".

11

25. (alternativa D)
comentario:

"Alguns dos garotos que eu convidei nao vierasm,"
ouando o pronome tiver a fungao de complemento objeto,
"referindo-se a pessoa (the boys), pode ser omitido como
na alternatiwa correta.

26, (alternativa E)
comentario: o qual
"0 professor sobre |quem [lhe escrevi nio chegou uinda."

Aperece movamente o problems dos "relotives", ja especi
ficado (vide sentengas anteriores). Temos tumbem o o
do present perfect com adverbio {not)... yet, rue »o a-
purece em fim de [rasc,

Poderia haver quatro sentenqgus corretis.
1) The teacher about whom 1 wrote to you hus not arrived
yet

2) The tcnnhurJ'”h°.1 1 wrote to you sbout has not

who
vews arrived yet.
No entanto, sendo guo 4, b, ¢, d nio extilo corretan, a

slternativa certa ¢ E (n.r.a.)

27. (alternativa C)

1)
comentario:

"Nada que voce fays pode fazer-me perdoa-1o."
lpreuenln o uso correto do pronuse relutivo “that®

Questido sobre pronomes relutivas, O pronome relat ivo que
se usa depois de "nothing, everybody, anything, etc" e
“that", sendo estu o ulternutiva correta.
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28, (alternativa B)
comentario:
“Qual é o nome do hotel cm nue voce

A questao versu sobre dois aspectos gramuticuis:

1) Quando, numa interrogutiva, houver-ums frose subgrdj
nuda, o verbo destn nio ¢ colocado na forma interrogati
va matt sim na forma allrmntive.

2) Em sentengas interrogotivas, caoslumi-se usir i prepe

sigho no (inal da frawse. .

vui geralmente?? ¥

29. (alternativa C)

comentario:

"g o garcom que deve Her censuradu.”

A qucstido pede o uko correto do relativo. Analisundo o
oragao " o gargom que deve ser cennarndo” o relativo
"que" ¢ sujeito da oragao suborginuda ¢ extd substituin
do "garcom" (waiter) que e pusson. Por sur sijeito, re-
ferente & peusous, & resposnta correta e "thut",

30, (alternativa C)
comantario:

A diffculdade que um aluno puderin cncontrar nessin vers
sh0 todvez sejs o pronome relotivo gque ¢ o verbo  ficar
(Jnzer). Quando o antecedente do pelutive {yue) se refe
rir u goisun ou animiis, podemos uxie fhiat on which lcg
mo sujeito ou objetu) nu Frase (no coxoe, spunlojn),

0 verbio Mto tie" pode canfundir pelit sup semelbongh comn
duis outros: _ .
- to bie = biew = livd = mentir ”
-t lie = Joy = loin w joazer, deitor, flear, ¢star
~ to luy = Jiid = laid = por, colovar
Conclyf-no entno: "u Merea gue fiea..," .
"ithe mountuin that 3iea®
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31, (alternativua A)
comentario:

A respostys correln ¢ A porgie:

- u pusigiio do udjetivo exta correta, precedendo o subs-
tuntivoe _

- o verho correto ¢ "ta Fell = rfelted = Pelied" (derru-
bur) ¢ nio"te full = fell = Fudlen™(enir).

32. (ulternativa B)

comentarios

A veHposth correti o B por varios mit fvos:
“Magora" = Ypow", "ot present” e nio Yactunliy”
folso cognatols renlmente)

="pode-se voer' - edte "se", prouume indefinide se traduz
por "one" e nao Mitsel ", Neverybody" ou Mwed

- o nujelto precede o verlio em frase ofirautiva

= “yberto” quundo funciona como purticiipio pnanitlo,usn
do como verbo; e Mepened! man quondo ¢ uwtilizado como o
djetivo e “open',

. ]
e e

33, (alternativa E) .
comentaria:

A rFesposta ¢ E por varjos motivos:

~ utiliza o past purticiple de "to cul? corretamente

< utiliza uma 86 negugiio ("nuthing") pois em ingles nio
sc pode ter duss negagaes dentro de umi 80 frong.

~ truduz corretumente "nada resta” - “there is nothing
left"

3h, (alternativa C) \

comentario:

A resposta ¢ C pois a alternutiva utilize de :

_ c ' | _ modo corre
to o udjetivo no qQue concerne a sua posic¢ao © numeros
E-_(qgles..o 9dJe5199 vem untes do substontive  (heavy
:a;?s) e tambem nao tem plural(como nus o) ternitivas a
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" 35, {alternativa D)
comentarios

‘A resposta correts ¢ D - virios motlvos concorvem pu=

ru juto! _ o

- "yida selvugea" - o udjetivo precede o substontivo em

ingles dal nao poder ser nem a B, nem u C, _ |

- fyhether" (Me) nao e usido no wentido de condicionul

mas como conjungao integrunte. Ex,: Nio sel se vous fos

ta = 1 don't know whether 1 will go to the purty.

Como & frase @ condicional, 80 pode ser "if' (nao « poy

sive) a alternative A), :

36, (alternativa D)
conanlirio ' ¢

Para ser resolvida corretamente, o auostado exigia
~ uso do verbo nm 38 pesson do alngular it has
cut down', _ o _ . _
- uso correto de "should" e “must" gue nao wdmitem “toV,
depois delen,

toe be

37, (alternatliva 8)\

comentario

0 que a pergunta pade e! . _
< uso de "few" (poucow para paluvras incontavels)
~ uso do gerundlo depois dos verbos ''to go on™ |
continue" h | |
- uso dio simple future; formado pelo auxiliar "have’ e

o verbo principal no infinite.

38 (alternativa A)

comentarjo .

A questic Pedo! , .

= correto uio de "as", como conjun¢io subordinstiva,

= correto uso do verbo®to know'nad 384 pesson do singular
que concorda tom "everybody" {todo o mundo) conaiderado
singular em ingles,

Hio
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39, (alternativa C)

éohint;rlo
A resposta caorreta e C pois trata-se de uma  eXpressio
fixn em inglégt to take + asujeito ¢ virbo no infinito

com to', Bx,3 { um mén‘pera entender intom It took
me ‘s month to understand it. _

Lo, (alternativa E)
gomentarios

D LAY nNuEv iake uw I}IIII'IO\U N Tivie ln Juseyou I:l waim Gne
origens da revolugho clentifica, ocorrida no sedulo XV1L

41, {(alternativa C)

oomentabiol

UAw ordgend da revolu¢as clentifica do lidhlﬂ,!?ll fo-
ram discutidas pelos historihdores nos dois seculos pas
nadoa" _

argued w dimputed

42, (Alternativa E)

gamuntirial

Segurido o texto intluiram na revolugso tientifios do we
culo XVI1 varlos fatorey entre os (uaisi .

= filonofia(mudangas em dxgman ho€itca ata antao)

« a dlasse média(com sud curiokidade carasteristica)

~ motivos economicos{o sucesaoc no ataque ‘s nilurdda as
soclado & recompenss economicals

- desenvolvimento industriul(a revolugao tecnologicu),

43, (alternativa A)
comentario:

A Reforma Protestante deu origem b proliferagdo de Hel~
tas, possibllitando aos portadores de pontos de viuta
heterodoxos seresm ouvidos, ' '
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4y, (alternativa A)
nnmantﬁriu:

"Pinullantu, ha o ponta, de v!ula que B clencin modnrnn
surgiu de uma revolugio tecnologicu - Invengdes sio bn
sicas nas revolugdes tecnologicos,

obs,} Embora o texto fale em liberagdo do espirito epro
peu ppla Reformu Protestante e tamben fule que
a proliferagao de seitua protestuntes possibiliton wos
pnrtndureh de pontos de vistua heterodoxos serem ouvidos,
nio e correto conslderur tuis fotares como indices de Lo
I.t_g_z:gnnin religiosn mos s8im de multiplicidude de pon

lsta (yue podem muito bem se ussociur a intole-
rancia entre os variog pontos de vista),

45, (alternativa E)
comentario;

Na passagem nio ha referdncius no que ox cientistus e~
rum realmentc,

Eles poderinm ser membros du clauso nediu ou naoj pro-
teatantes ou catolivos, filasofos e nip filosofos e ute
mesmo econouisﬁuﬂ.

46, (alternativa C)
comentariot

".vs & dinamica clansicu foi funduda desafliundo um dog-
my fundamental do filosoliu uristotelica,"

L7, gnlternativu D)
comentario:

Coerentemente com a afirmativa do il Lima purdgrufo do

texto, um cientists do seculo XV11 poderin descrever o
univérso como um relogio (um tipo de méquina).

(alternativa C)
comentario:

Padroes de processamente gue reguerem o uso de matys fals
jue nao podem s¢r encontrados tendem @ se Lurnar nae o=
perocionuis {unworkable).

+ (alternativa D)
comentario‘

" ... 08 padrdes nao sao gernlmon;u produto de umu 80
pesson, mas representum o pensamento ¢ iduina de um gru
po impregnado do conhecimentn e informagoes ususlmente
disponiveis"

50. (alternativa E)

comentario:

Pudroes que exigem toleranciu muis estreity do que o ex
sencial 2 cunduqno com sucespu de uperagoen de producno
reduzem o seu efeito nu melhorin dostus upevngaua { the
effect of the stundurds is lesisened),



